

Home Search Collections Journals About Contact us My IOPscience

Symmetries and a hierarchy of the general modified KdV equation

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 1987 J. Phys. A: Math. Gen. 20 367 (http://iopscience.iop.org/0305-4470/20/2/022)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 129.252.86.83 The article was downloaded on 01/06/2010 at 05:20

Please note that terms and conditions apply.

## Symmetries and a hierarchy of the general modified KdV equation

Tian Chou<sup>†</sup>

International Centre for Theoretical Physics, Miramare, Trieste, Italy

Received 6 March 1986

Abstract. Two groups of symmetries and their Lie algebra properties for the modified Kav equation are extended to the general modified Kav equation and the Miura transformation between the general Kav equation and the general modified Kav equation is also established.

In Tian Chou (1985, 1987), we discussed the general Kav (GKAV) equation

$$u_t + u_{xxx} + 6uu_x + 6fu - x(f' + 12f^2) = 0$$
<sup>(1)</sup>

where f is an arbitrary function of t. For the GKdV equation, we have found its Lax pair:

$$\Omega = \begin{pmatrix} 0 & 1 \\ k - u & 0 \end{pmatrix} dx + \begin{pmatrix} (u + 2k)_x & -(4k + 2u) \\ u_{xx} - (4k + 2u)(k - u) & -(u + 2k)_x \end{pmatrix} dt$$
(2)

where  $k = xf + \lambda g$ ,  $\lambda$  is an arbitrary constant and  $g(t) = \exp(-\int 12f dt) (g' + 12fg = 0)$ . Writing the Lax equation

$$da = \Omega a \qquad a = \begin{pmatrix} a_1 \\ a_2 \end{pmatrix}$$

as the Riccati form, we have

$$\varphi_x = k - u - \varphi^2 \tag{3}$$

$$\varphi_t = -(4k+2u)(k-u-\varphi^2) + u_{xx} - 2(u_x+2f)\varphi$$
(4)

 $(\varphi=a_2/a_1).$ 

From (3)

$$u = k - \varphi_x - \varphi^2.$$

Substituting this into (4), we obtain

$$\varphi_t + \varphi_{xxx} - 6\varphi^2 \varphi_x + 6k\varphi_x + 6f\varphi = 0.$$
<sup>(5)</sup>

Therefore we have the transformation between the GKav equation (1) and equation (5):

$$u = xf + \lambda g - \varphi_x - \varphi^2. \tag{6}$$

In particular, when  $\lambda = 0$ , equation (5) is reduced to

$$\varphi_t + \varphi_{xxx} - 6\varphi^2 \varphi_x + 6xf\varphi_x + 6f\varphi = 0 \tag{7}$$

<sup>+</sup> Permanent address: Department of Mathematics, University of Science and Technology of China, Hefei, Anhui, People's Republic of China.

0305-4470/87/020367+08\$02.50 © 1987 IOP Publishing Ltd

and (6) is reduced to

$$u = xf - \varphi_x - \varphi^2. \tag{8}$$

If we change  $\varphi$  to  $i\tilde{\varphi}$ , then (7) is changed to

 $\tilde{\varphi}_t + \tilde{\varphi}_{xxx} + 6\tilde{\varphi}^2 \tilde{\varphi}_x + 6xf \tilde{\varphi}_x + 6f \tilde{\varphi} = 0.$ (9)

When f = 0, (1) is reduced to the Kdv equation

 $u_t + u_{xxx} + 6uu_x = 0$ 

and (7) or (9) is reduced to the modified  $\kappa dv$  equation

$$\varphi_t + \varphi_{xxx} - 6\varphi^2 \varphi_x = 0$$

or

$$\tilde{\varphi}_t + \tilde{\varphi}_{xxx} + 6\tilde{\varphi}^2\tilde{\varphi}_x = 0$$

and transformation (6) is reduced to the Miura transformation

 $u=-\varphi_x-\varphi^2.$ 

We call (7) or (9) the general modified  $\kappa dv$  (GMKdv) equation and (8) is the Miura transformation as well.

Since the GMKdv equation is invariant when we change  $\varphi$  to  $-\varphi$ , the transformation (8) can be written as

$$u = xf + \varphi_x - \varphi^2. \tag{10}$$

We can establish the Miura transformation, (10) or (8), directly. In fact, substituting (10) into (1), we can obtain

$$(\mathbf{D}-2\varphi)(\varphi_t+\varphi_{xxx}-6\varphi^2\varphi_x+6xf\varphi_x+6f\varphi)=0$$

(D = d/dx).

It is trivial that  $\varphi$  is a solution of (5) if and only if  $-\varphi$  is a solution of (5) as well. Therefore, we can change equations (3) and (4) to

$$-\varphi_x = k - u' - \varphi^2 \tag{11}$$

$$-\varphi_t = -(4k+2u')(k-u'-\varphi^2) + u'_{xx} + 2(u'_x+2f)\varphi.$$
(12)

Then u' is also a solution of (1) if  $\varphi$  satisfies (3) and (4). From (3) and (4), we obtain the relation between u and u':

$$u' = u + 2\varphi_x$$
.

This is a Bäcklund transformation (in Darboux type) of the GKdV equation and is the same as the result in Tian Chou (1987).

The above discussion can be considered as an extension of the results in Chen (1974). Furthermore, we discuss the symmetries of the GMKdv equation

$$\varphi_t = K$$

$$K = -(\varphi_{xxx} - 6\varphi^2 \varphi_x + 6xf\varphi_x + 6f\varphi).$$
(13)

At first, we can check that

$$\Phi = (1/g)(\mathbf{D}^2 + 4\varphi^2 + 4\varphi_x \mathbf{D}^{-1}\varphi)$$
(14)

 $(D^{-1}$  is the inverse operator of D) satisfies the equation

$$\mathrm{d}\Phi/\mathrm{d}t = [K', \Phi]$$

where  $K' = -[D^3 + (xf - \varphi^2)D - 12\varphi\varphi_x + 6f]$  (see the appendix). Hence,  $\Phi$  is a strong symmetry (or recursion operator) of the GMKdv equation (Oevel and Fokas 1984, Tian Chou 1985). It is easy to show that  $\Phi$  is a hereditary symmetry (Olver 1977). Therefore, a hierarchy of the GMKdV equation is generated by  $\Phi$  and (13):

$$u_t = K_n$$

$$K_n = \Phi^n K \qquad n = 0, 1, 2, \dots$$
(15)

and  $\Phi$  is the strong symmetry of all of equations (15).

We point out that there is a transformation which links the modified Kav equation  $\psi_{\tau} + \psi_{\xi\xi\xi} - 6\psi^2\psi_{\xi} = 0$  to the GMKdV equation:

$$\varphi_t + \varphi_{xxx} 6 \varphi^2 \varphi_x + 6xf \varphi_x + 6f \varphi = 0$$
$$\varphi = \sqrt{g} \psi \qquad \xi = g^{1/2} x \qquad \tau = \int g^{3/2} dt$$

However, this transformation cannot transform the MKdv equations of high order into the GMKav equations of high order.

Next, we present two symmetries of the GMKdv equation as follows:

$$\sigma_0 = (1/\sqrt{g})\varphi_x$$
  

$$\tau_1 = 3g^{-3/2} \int g^{3/2} dt (\varphi_t + 6f(x\varphi)_x) + (x\varphi)_x$$
  

$$= 3 \int g^{3/2} dt \Phi \sigma_0 + (x\varphi)_x.$$

(We can check that  $\sigma_0$  and  $\tau_1$  satisfy the equations  $d\sigma_0/dt = K'[\sigma_0]$  and  $d\tau_1/dt = K'[\tau_1]$ directly.) Therefore, two groups of symmetries are generated by  $\sigma_0$ ,  $\tau_1$  and  $\Phi$ :

$$\sigma_m = \Phi^m \sigma_0 \qquad m = 0, 1, 2, \dots$$
  

$$\tau_n = \Phi^{n-1} \tau_1$$
  

$$= 3 \int g^{3/2} dt \, \sigma_n + \Phi^{n-1} (x\varphi)_x \qquad n = 1, 2, \dots$$

Theorem.  $\sigma_m$  (m = 0, 1, 2, ...) and  $\tau_n$  (n = 1, 2, ...) satisfy the Lie algebra

(i)  $[\sigma_m, \sigma_n] = 0$  m, n = 0, 1, 2, ...

(ii)  $[\sigma_m, \tau_n] = (2m+1)\sigma_{m+n-1}$ (iii)  $[\tau_m, \tau_n] = 2(m-n)\tau_{m+n-1}$  m = 0, 1, 2, ..., n = 1, 2, ... m, n = 1, 2, ...

([a, b] = a'[b] - b'[a]).

To prove this theorem, we need the following lemmas.

Lemma 1.

$$\Phi'[\sigma_m] = [\sigma'_m, \Phi] \qquad m = 0, 1, 2, \dots$$
(16)

*Proof.* First, we can check that

$$\Phi'[\sigma_0] = [\sigma'_0, \Phi]. \tag{17}$$

and (17) is equivalent to

 $\Phi[\sigma_0, a] = [\sigma_0, \Phi a]$ 

for any function a, i.e.  $\Phi$  commutes with  $\sigma_0$  (Fuchssteiner 1981). Next, since  $\Phi$  is a hereditary symmetry, we can also prove that  $\Phi$  commutes with  $\sigma_n$  (n = 1, 2, ...) (Tian Chou 1987). Therefore, (16) is valid.

Lemma 2.

 $[\sigma_0, (x\varphi)_x] = \sigma_0.$ 

Proof.

$$[\sigma_0, (x\varphi)_x] = \sigma'_0[(x\varphi)_x] - ((x\varphi)_x)'[\sigma_0]$$
  
=  $(1/\sqrt{g})(x\varphi)_{xx} - x(\sigma_0)_x - \sigma_0$   
=  $\sigma_0$ .

Lemma 3.

$$\Phi'[(x\varphi)_x] + \Phi \circ ((x\varphi)_x)' - ((x\varphi)_x)' \circ \Phi = 2\Phi.$$
(18)

*Proof.* Notice that  $D^{-1}(x\varphi D) = x\varphi - D^{-1}((x\varphi)_x) - D^{-1}\varphi$ , we can check it directly.

Lemma 4.

$$[\sigma_m, (x\varphi)_x] = (2m+1)\sigma_m. \tag{19}$$

*Proof.* According to lemma 2, (19) is established for n = 0. Notice that

$$(\Phi a)'[b] = \Phi'[b]a + \Phi a'[b]$$
<sup>(20)</sup>

is valid for any operator  $\Phi$  and any functions a and b (Li and Zhu 1985a, b), then we can prove this lemma by using induction and lemma 3.

Lemma 5.

$$[\sigma_m, \Phi^{n-1}(x\varphi)_x] = (2m+1)\sigma_{m+n-1} \qquad m = 0, 1, 2, \dots, n = 1, 2, \dots$$
(21)

*Proof.* According to lemma 4, (21) is valid for any m when n = 1. Suppose (21) is established for n = k, i.e.

$$[\sigma_m, \Phi^{k-1}(x\varphi)_x] = (2m+1)\sigma_{m+k-1}$$

Using (20) and lemma 1

$$\begin{split} [\sigma_m, \Phi^k(x\varphi)_x] &= \sigma'_m [\Phi^k(x\varphi)_x] - (\Phi^k(x\varphi)_x)'[\sigma_m] \\ &= \sigma'_m [\Phi^k(x\varphi)_x] - \Phi'[\sigma_m] \Phi^{k-1}((x\varphi)_x) - \Phi(\Phi^{k-1}(x\varphi)_x)'[\sigma_m] \\ &= \sigma'_m [\Phi^k(x\varphi)_x] - [\sigma'_m, \Phi] \Phi^{k-1}((x\varphi)_x) - \Phi(\Phi^{k-1}(x\varphi)_x)'[\sigma_m] \\ &= \Phi[\sigma_m, \Phi^{k-1}(x\varphi)_x] \\ &= (2m+1)\sigma_{m+k}. \end{split}$$

Therefore, (21) is valid.

Lemma 6.

$$[\Phi(x\varphi)_x, (x\varphi)_x] = 2\Phi(x\varphi)_x.$$

Proof. Using (18), we can check it directly.

Lemma 7.

$$[\Phi^{m-1}(x\varphi)_x, (x\varphi)_x] = 2m\Phi^{m-1}(x\varphi)_x \qquad m = 2, 3, \ldots$$

*Proof.* According to lemma 6, this is valid when m = 2. Then we can prove it by using (18), (20) and induction.

Lemma 8.

$$[\Phi^{m-1}(x\varphi)_x, \Phi^{n-1}(x\varphi)_x] = 2(m-n)\Phi^{m+n-2}(x\varphi)_x \qquad m, n = 1, 2, \dots$$
 (22)

*Proof.* According to lemma 7, (22) is valid for any m when n = 1. Using (20), (18) and the hereditary property of  $\Phi$  (Fuchssteiner 1981), we can prove

$$\Phi'[\Phi^{n-1}(x\varphi)_x]\Phi^{m-1}(x\varphi)_x - (\Phi^{n-1}(x\varphi)_x)'[\Phi(x\varphi)_x]$$
  
=  $\Phi^{n-1}\Phi'[(x\varphi)_x]\Phi^{m-1}(x\varphi)_x - \Phi(\Phi^{n-1}(x\varphi)_x)'[\Phi(x\varphi)_x].$ 

Then we can prove (22) by using induction.

Proof of the theorem.

(i) is the direct result of lemma 1.

(ii) From lemma 5

$$[\sigma_m, \tau_n] = [\sigma_m, 3h\sigma_n + \Phi^{n-1}(x\varphi)_x] \qquad \left(h = \int g^{3/2} dt\right)$$
$$= [\sigma_m, \Phi^{n-1}(x\varphi)_x]$$
$$= (2m+1)\sigma_{m+n-1}.$$

(iii) From lemmas 5 and 8

$$[\tau_{m}, \tau_{n}] = [3h\sigma_{m} + \Phi^{m-1}(x\varphi)_{x}, 3h\sigma_{n} + \Phi^{n-1}(x\varphi)_{x}]$$
  
=  $3h[\sigma_{m}, \Phi^{n-1}(x\varphi)_{x}] + 3h[\Phi^{m-1}(x\varphi)_{x}, \sigma_{n}] + [\Phi^{m-1}(x\varphi)_{x}, \Phi^{n-1}(x\varphi)_{x}]$   
=  $6h(m-n)\sigma_{m+n-1} + 2(m-n)\Phi^{m+n-2}(x\varphi)_{x}$   
=  $2(m-n)\tau_{m+n-1}$ .

We complete the proof.

For the GMKdv equation

$$\varphi_t + \varphi_{xxx} \pm 6\varphi^2 \varphi_x + 6xf\varphi_x + 6f\varphi = 0$$

. . .

there is a Lax pair as follows:

$$\Omega = M \, \mathrm{d}x + N \, \mathrm{d}t \tag{23}$$

where

$$M = \begin{pmatrix} \eta g^{1/2} & \varphi \\ -\varphi & -\eta g^{1/2} \end{pmatrix}$$
$$N = \begin{pmatrix} -4\eta^3 g^{3/2} - 2\eta g^{1/2} (\pm \varphi^2 + 3xf) & -(\varphi_{xx} + 2\varphi(2\eta^2 g \pm \varphi^2 + 3xf) - 2\eta g^{1/2} \varphi_x \\ \varphi_{xx} + 2\varphi(2\eta^2 g \pm \varphi^2 + 3xf) - 2\eta g^{1/2} \varphi_x & 4\eta^3 g^{3/2} + 2\eta g^{1/2} (\pm \varphi^2 + 3xf) \end{pmatrix}$$

( $\eta$  is an arbitrary constant), i.e.  $d\Omega - \Omega \wedge \Omega = 0$  if and only if  $\varphi_t + \varphi_{xxx} \pm 6\varphi^2 \varphi_x + 6xf\varphi_x + 6f\varphi = 0$ . In particular, when f = 0, g = 1 and (23) is reduced to

$$\Omega = \begin{pmatrix} \eta & \varphi \\ -\varphi & -\eta \end{pmatrix} dx + \begin{pmatrix} -(4\eta^3 \pm 2\eta\varphi^2) & -(\varphi_{xx} + 4\eta^2\varphi \pm 2\varphi^3) - 2\eta\varphi_x \\ \varphi_{xx} + 4\eta^2\varphi \pm 2\varphi^3 - 2\eta\varphi_x & 4\eta^3 \pm 2\eta\varphi^2 \end{pmatrix} dt.$$

This is a well known Lax pair of the modified  $\kappa dv$  equation. Using the Lax pair (23), we can obtain a Bäcklund transformation (in Darboux type) and some solutions of the GMKdv equation.

The above results can be extended to the equation

$$\varphi_t + \varphi_{xxx} \pm 6\varphi^2 \varphi_x + 6xf\varphi_x + 6l\varphi_x + 6f\varphi = 0$$

where f and l are arbitrary functions of t. It corresponds to the general Kdv equation

$$u_{l} + u_{xxx} + 6uu_{x} - x(f' + 12f^{2}) - (l' + 12lf) = 0.$$

## Acknowledgments

The author would like to thank Professor Li Yi-shen for many valuable discussions. He would also like to thank Professor Abdus Salam, the International Atomic Energy Agency and UNESCO for hospitality at the International Centre for Theoretical Physics, Trieste.

## Appendix

We prove that

$$\Phi = (1/g)(\mathbf{D}^2 - 4\varphi^2 - 4\varphi_x \mathbf{D}^{-1}\varphi)$$

satisfies the equation

$$d\Phi/dt = [K', \Phi]$$

i.e.

$$\partial \Phi / \partial t + \Phi'[K] = [K', \Phi]$$

where

$$K' = -(D^3 - 6\varphi^2 D + 6xf D - 12\varphi\varphi_x + 6f).$$

First, we need the following formulae:

$$D^{2}(\varphi^{2}D) = \varphi^{2}D^{3} + 4\varphi\varphi_{x}D^{2} + 2\varphi_{x}^{2}D + 2\varphi\varphi_{xx}D$$

$$D^{2}(\varphi\varphi_{x}) = \varphi\varphi_{x}D^{2} + 2\varphi\varphi\varphi_{xx}D + 2\varphi_{x}^{2}D + \varphi\varphi_{xxx} + 3\varphi_{x}\varphi_{xx}$$

$$Q^{-}(xD) = xD^{3} + 2D^{2}$$

$$D^{3}\varphi^{2} = \varphi^{2}D^{3} + 6\varphi\varphi_{x}D^{2} + 6(\varphi\varphi_{xx} + \varphi_{x}^{2})D + 2\varphi\varphi_{xxx} + 6\varphi_{x}\varphi_{xx}$$

$$D(\varphi_{x}D^{-1}\varphi) = \varphi_{xx}D^{-1}\varphi + \varphi\varphi_{x}$$

$$D^{2}(\varphi_{x}D^{-1}\varphi) = \varphi_{xxx}D^{-1}\varphi + 2\varphi\varphi_{xx} + \varphi_{x}^{2} + \varphi\varphi_{x}D$$

$$D^{3}(\varphi_{x}D^{-1}\varphi) = \varphi_{xxxx}D^{-1}\varphi + 3\varphi\varphi_{xxx} + 4\varphi_{x}\varphi_{xxx} + 3\varphi\varphi_{xx}D + 2\varphi_{x}^{2}D + \varphi\varphi_{x}D^{2}$$

$$D^{-1}(\varphi D) = -D^{-1}\varphi_{x} + \varphi$$

$$D^{-1}(\varphi^{3}D) = -3D^{-1}\varphi^{2}\varphi_{x} + \varphi^{3}$$

$$D^{-1}(\varphi D^{3}) = \varphi D^{2} - \varphi_{x}D + \varphi_{xx} - D^{-1}\varphi_{xxx}$$

$$D^{-1}(x\varphi D) = x\varphi - D^{-1}x\varphi_{x} - D^{-1}\varphi.$$
Next, we have
$$g d\Phi/dt = 12f(D^{2} - 4\varphi^{2} - 4\varphi_{x}D^{-1}) - 8\varphi\varphi_{t} - 4\varphi_{xt}D^{-1}\varphi - 4\varphi_{x}D^{-1}\varphi_{t}$$
and
$$g[K', \Phi] = [K', D^{2} - 4\varphi^{2} - 4\varphi_{x}D^{-1}\varphi].$$

$$[K', \Phi] = [K', D^2 - 4\varphi^2 - 4\varphi_x D^{-1}\varphi].$$

$$-4K' \circ (\varphi_x D^{-1}\varphi) = 4(D^3 - 6\varphi^2 D + 6xf D - 12\varphi\varphi_x + 6f) \circ (\varphi_x D^{-1}\varphi)$$
$$= 4[D^3(\varphi_x D^{-1}\varphi) + 6(xf - \varphi^2)D(\varphi_x D^{-1}\varphi)$$
$$- 12\varphi\varphi_x^2 D^{-1}\varphi + 6f\varphi_x D^{-1}\varphi]$$
$$= 4(-\varphi_{xt} D^{-1}\varphi + 3\varphi\varphi_{xxx} + 4\varphi_x\varphi_{xx} + 6(xf - \varphi^2)\varphi\varphi_x$$
$$+ 3\varphi\varphi_{xx} D + 2\varphi_x^2 D + \varphi\varphi_x D^2)$$

and

$$4\varphi_x \mathbf{D}^{-1}\varphi \circ \mathbf{K}' = -4(\varphi_x \mathbf{D}^{-1}\varphi) \circ (\mathbf{D}^3 - 6\varphi^2 \mathbf{D} + 6xf \mathbf{D} - 12\varphi\varphi_x + 6f)$$
$$= -4[\varphi_x \mathbf{D}^{-1}\varphi_i + \varphi_x \varphi_{xx} + 6(xf - \varphi^2)\varphi\varphi_x - \varphi_x^2 \mathbf{D}$$
$$+ \varphi\varphi_x \mathbf{D}^2 + 6f\varphi_x \mathbf{D}^{-1}\varphi]$$

we have

$$[K', -4\varphi_x D^{-1}\varphi] = -4K^0 \circ \varphi_x D^{-1}\varphi + 4\varphi_x D^{-1}\varphi \circ K'$$
  
=  $-4(\varphi_x D^{-1}\varphi_t + \varphi_{xt} D^{-1}\varphi - 3\varphi\varphi_{xxx} - 3\varphi_x\varphi_{xx} - 3\varphi\varphi_x D - 3\varphi_x^2 D + 6f\varphi_x D^{-1}\varphi).$ 

Since

$$K' \circ (D^2 - 4\varphi^2) = -(D^3 - 6\varphi^2 D + 6xf D - 12\varphi\varphi_x + 6f) \circ (D^2 - 4\varphi^2)$$
  
$$= -(D^5 + 6(xf - \varphi^2)D^3 - 12\varphi\varphi_x D^2 + 6f D^2$$
  
$$-4[\varphi^2 D^3 + 6\varphi\varphi_x D^2 + 6\varphi_x\varphi_{xx} D + 6\varphi_x^2 D + 2\varphi\varphi_{xx} + 6\varphi_x\varphi_{xx} - 24(xf - \varphi^2)$$
  
$$\times (\varphi^2 D + 2\varphi\varphi_x) + 48\varphi^3\varphi_x - 24f\varphi^2]$$

and

$$-(\mathbf{D}^2 - 4\varphi^2) \circ K' = (\mathbf{D}^2 - 4\varphi^2) \circ (\mathbf{D}^3 - 6\varphi^2\mathbf{D} + 6xf\mathbf{D} - 12\varphi\varphi_x + 6f)$$
  
=  $\mathbf{D}^5 + 6(xf - \varphi^2)\mathbf{D}^3 - 24\varphi\varphi_x\mathbf{D}^2 + 12f\mathbf{D}^2 - 12\varphi\varphi_{xx}\mathbf{D} - 12\varphi_x^2\mathbf{D}$   
 $- 12(\varphi\varphi_x\mathbf{D}^2 + 2\varphi_x\varphi_{xx}\mathbf{D} + 2\varphi_x^2\mathbf{D} + \varphi\varphi_{xxx} + 3\varphi_x\varphi_{xx})$   
 $+ 6f\mathbf{D}^2 - 4\varphi^2\mathbf{D}^3 - 24\varphi^2(xf - \varphi^2)\mathbf{D} + 48\varphi^3\varphi_x - 24f\varphi^2$ 

we have

$$[K', D^2 - 4\varphi^2] = -4\varphi\varphi_{xxx} - 12\varphi_x\varphi_{xx} + 48(xf - \varphi^2)\varphi\varphi_x + 12fD^2 - 12\varphi\varphi_{xx}D - 12\varphi_x^2D$$

and

$$[K', D^2 - 4\varphi^2 - 4\varphi_x D^{-1}\varphi] = [K', D^2 - 4\varphi^2] + [K', -4\varphi_x D^{-1}\varphi]$$
$$= -4\varphi_x D^{-1}\varphi_t - 4\varphi_{xt} D^{-1}\varphi + 6f\varphi_x D^{-1}\varphi + 8\varphi$$
$$\times (\varphi_{xxx} + 6(xf - \varphi^2)\varphi\varphi_x) + 12fD^2$$
$$= -4\varphi_x D^{-1}\varphi_t - 4\varphi_{xt} D^{-1}\varphi + 6f\varphi_x D^{-1}\varphi$$
$$+ 12fD^2 - 8\varphi\varphi_t + 48f\varphi^2.$$

Therefore

$$\mathrm{d}\Phi/\mathrm{d}t = [K', \Phi].$$

## References

Chen H H 1974 Lecture Notes in Mathematics **515** (Berlin: Springer) 241-52 Fuchssteiner B 1981 Prog. Theor. Phys. **65** 861-76 Li Yi-shen and Zhu Guo-Cheng 1985a Preprint USTC, Hefei — 1985b Preprint ICTP IC/85/128 Oevel W and Fokas A S 1984 J. Math. Phys. **25** 918-22 Olver P J 1977 J. Math. Phys. **18** 1212-5 Tian Chou 1985 Preprint USTC, Hefei — 1987 J. Phys. A: Math. Gen. **20** 359-66